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Question Number : 1 Question Id : 70819120734 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a typical combustion engine the workdone by a gas molecule is given by

W = HEBU KT, where x is the displacement, k is the Boltzmann constant and T is the
temperature. If a and P are constants, dimensions of a will be :
Options :

; 2
70819167351, LM LT 7]

g0 ]
70819167352. Lot

/ 1
70819167353. Sl

12 2
70819167354, | M7LT 7]

Question Number : 1 Question Id : 70819120734 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 2 Question Id : 70819120735 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A :  Body ‘P’ having mass M moving with speed ‘u” has head-on collision
elastically with another body ‘Q)’ having mass ‘m’ initially at rest. If m <<
M, body ‘Q" will have a maximum speed equal to “2u” after collision.

Reason R : During elastic collision, the momentum and kinetic energy are both
conserved.,

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819167355, Poth A and R are correct and R is the correct explanation of A.

20819167356. Both A and R are correct but R is NOT the correct explanation of A.

70819167357. A is correct but R is not correct.

70819167358. A is not correct but R is correct.



Question Number : 2 Question Id : 70819120735 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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20819167355, S0 A3 RFAd 06 i3 R, A ¥ Adl 7= J1

70819167356. = An3 R It 78 UF R, AT Aot 7=78 &dt J1

70819167357, AFI I WS R I3 T

70819167358, A T8 3 W R AL T

Question Number : 3 Question Id : 70819120736 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A planet revolving in elliptical orbit has :

a constant velocity of revolution.

has the least velocity when it is nearest to the sun.

its areal velocity is directly proportional to its velocity.

areal vr_-lncit}-' is imrersr_-lj,-' pmportinnal lo its vc-lncit}-'.

mYN® >

to follow a trajectory such that the areal velocity is constant.
Choose the correct answer from the options given below :
Options :

70819167359, “* ©LY



70819167360, © °nY

70819167361, 1 oty

70819167362, L only

Question Number : 3 Question Id : 70819120736 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819167359, P98 A

70819167360, 798 C

70819167361, 1H9< D

70819167362. i

Question Number : 4 Question Id : 70819120737 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Find the gravitational force of attraction between the ring and sphere as shown in the diagram,

where the plane of the ring is perpendicular to the line joining the centres. If \fg R is the

distance between the centres of a ring (of mass ‘m’) and a sphere (mass "M’) where both have
equal radius 'R’

m M
R R
X | B8R Y

Options :

70819167363. -

\,f_f{: - GmM
70819167364, ° K
1 GMhm

2 3
70819167365, V8 R

E\E i GMm
%
70819167366. - R“

Question Number : 4 Question Id : 70819120737 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fe3 32 foz9 18, edt w3 3% fegars widaRE 5% T UST & Aod B Hedt (‘m’ 919 3@ 3 fea
aw (‘M 9 %) ¥ oed' fegad = got B8R I%, fiiE 27 @ 59rsq »igd fom R’ J1




Options :
B GmM
70819167363, =/ K7

\.f_f{: - GmM
70819167364, ° R
1 GMhm

1 B
70819167365, V8 R

242 GMm
3 R2
70819167366, - R

Question Number : 5 Question Id : 70819120738 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four identical solid spheres each of mass ‘m” and radius “a’ are placed with their centres on
the four corners of a square of side ‘b". The moment of inertia of the system about one side of
square where the axis of rotation is parallel to the plane of the square is :

Options:

4

3 maZ + 2mb?
70819167367.

B

—maZ+ 2mb?
70819167368, °

%ma2 + mb?
70819167369.

)
—ma-
70819167370. 5



Question Number : 5 Question Id : 70819120738 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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._1 ) )
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70819167367.
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70819167368, °
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)
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Question Number : 6 Question Id : 70819120739 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A large number of water drops, each of radius r, combine to have a drop of radius R. If the
surface tension is T and mechanical equivalent of heat is ], the rise in heat energy per unit
volume will be :

Options :
2T(1 11
iz R!
70819167371.
3T(1 \
70819167372, 1 \F R/

3T

70819167373,
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Question Number : 6 Question Id : 70819120739 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 70819120740 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The normal density of a material is p and its bulk modulus of elasticity is K. The magnitude of
increase in density of material, when a pressure P is applied uniformly on all sides, will be :
Options :
oP
70819167375,




X
70819167376, P!

.p[\l
70819167377. I

PK

70819167378. P

Question Number : 7 Question Id : 70819120740 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
P
70819167375.

70819167376. F

70819167377. I

70819167378. P

Question Number : 8 Question Id : 70819120741 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Assume that a tunnel is dug along a chord of the earth, at a perpendicular distance (R/2)
from the earth’s centre, where ‘R’ is the radius of the Earth. The wall of the tunnel is frictionless.
If a particle is released in this tunnel, it will execute a simple harmonic motion with a time
period :

Options :

70819167379.

70819167380.

70819167381.

2
%

70819167382.

Question Number : 8 Question Id : 70819120741 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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70819167379. ©

70819167380.

70819167381.
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70819167382.

Question Number : 9 Question Id : 70819120742 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The temperature 6 at the junction of two insulating sheets, having thermal resistances
R, and R, as well as top and bottom temperatures 6, and 6, (as shown in figure) is given by :

...... 8
R, -
""" L g
Ry &
6,
Options:
0;R5 + 05Ry
70819167383, K1t Rz
.':IIR'I | l]sz
70819167384, 1t R2
B8R — 05R4
70819167385. Py
0,R5 — R,
70819167386, X2~ Ku

Question Number : 9 Question Id : 70819120742 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
0;R5 + 0,Ry
70819167383, 1t Rz
0;Ry + B,R»
70819167384, J1 tR2
B8R — 05R4
70819167385. Py
8,R5 — 4R,
70819167386, 2 Ru

Question Number : 10 Question Id : 70819120743 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A particle is moving with uniform speed along the circumference of a circle of radius
R under the action of a central fictitious force F which is inversely proportional to R, Its time
period of revolution will be given by :

Options:

3
TxR2
70819167387.

4

3
70819167388, | * R

70819167389, T=R?



b |

TaxR
70819167390.

Question Number : 10 Question Id : 70819120743 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:
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3
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Question Number : 11 Question Id : 70819120744 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If two similar springs each of spring constant K I are joined in series, the new spring constant
and time period would be changed by a factor :

Options:

N
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70819167391.

70819167392.



70819167393.

|
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70819167394, +

Question Number : 11 Question Id : 70819120744 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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70819167391.

70819167393.

]
70819167394, *

Question Number : 12 Question Id : 70819120745 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Find the electric field at point P (as shown in figure) on the perpendicular bisector of a
uniformly charged thin wire of length L carrying a charge Q. The distance of the point P

from the centre of the rod is a= T L.

o
€ a :E
|| = .
0 P
v g
Options :
Q
70819167395, 750
Q
—l’:TEﬂ L2
70819167396.
_\3Q
—l-ﬂTEn I_.E
70819167397.
0
= . 2
70819167398, V- Teo L

Question Number : 12 Question Id : 70819120745 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 70819120746 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider the combination of 2 capacitors C . and C > with C 52 L " when connected in parallel,

the oqui\ralont capacitance is T times the equivalont capacitance of the same connected in

.Cz
series. Calculate the ratio of capacitors, a
Options :
2
70819167399, 1



15
70819167400. 11

15

70819167401, 2

i

70819167402, SV

Question Number : 13 Question Id : 70819120746 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
29
70819167399, 1°
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70819167400. 11
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70819167401, 2

111

70819167402, SV

Question Number : 14 Question Id : 70819120747 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

An alternating current is given by the equation i=1, sin wt+1, cos wt. The rms current will
be :

Options :
= |
= iy + i2)
70819167403. V<

1 (i, + ip)?
= Wi 2
70819167404, V2
' 1
8 1
S
70819167405, V2 '
G q
= it + i5)2

70819167406. 2

Question Number : 14 Question Id : 70819120747 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 70819120748 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Five equa[ resistances are connected in a network as shown in figure. The net resistance
between the points A and Bis :

Options :

70819167407.

m|x~'

70819167408.

70819167409, K

3R
70819167410, 2

Question Number : 15 Question Id : 70819120748 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819167408.
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70819167410, 2

Question Number : 16 Question Id : 70819120749 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A short straight object of height 100 cm lies before the central axis of a spherical mirror
whose focal length has absolute value |f| =40 cm. The image of object produced by the
mirror is of height 25 cm and has the same orientation of the object. One may conclude from
the information :

Options :
70819167411 Image is virtual, opposite side of concave mirror.

70819167412. Image is real, same side of concave mirror.

70819167413, Image is virtual, opposite side of convex mirror.



70819167414. Image is real, same side of convex mirror.

Question Number : 16 Question Id : 70819120749 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

20819167411, yStas namdl T, niess Tous T et fomr fg T

20819167412, yStag nirdt J, ne3ds sous & Ot femr feg O

70819167413, Y=iTad nEgHE I, €35, Tauz ¥ 8wzt femr 99 U1

20819167414, SSTT5E niFst 3, 83 wquz &t df femr feg T

Question Number : 17 Question Id : 70819120750 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a Young's double slit experiment two slits are separated by 2 mm and the screen is placed
one meter away. When a light of wavelength 500 nm is used, the fringe separation will be :

Options :

70819167415, 1 mm

70819167416. 0.75 mm

70819167417, 0.50 mm



70819167418, U-25 mm

Question Number : 17 Question Id : 70819120750 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819167415, 1 mm

70819167416, 0-/> mm

70819167417, 0.50 mm

70819167418, U-2° mm

Question Number : 18 Question Id : 70819120751 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A ¢ An electron microscope can achieve better rosolvmg power than an optical
microscop e,

Reason R : The de Broglie's wavelength of the electrons emitted from an electron gun
is much less than wavc-lc-ngth of visible Iight.

In the light of the above statements, choose the correct answer from the options given below :

Options :
70819167419, Poth A and R are true and R is the correct explanation of A.

70819167420. Both A and R are true but R is NOT the correct r:-xplanation of A.



70819167421. A is true but R is false.

70819167422, A is false but R is true.

Question Number : 18 Question Id : 70819120751 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

20819167419, 0 ANS R AJt 98 2 R, A © Adl 729 J1
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Question Number : 19 Question Id : 70819120752 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If A; and A, are the wavelengths of the third member of Lyman and first member of the
Paschen series respectively, then the value of A, : A, is:

Options :

70819167423, 7 : 108



70819167424, 7 * 13

70819167425, 1+ 3

70819167426, 1 * 9

Question Number : 19 Question Id : 70819120752 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Hog A, i3 A, B0iHG B ¥ St AER S 3991 ®9El w3 UHES B31 € Ulgs AER S 394 dEel
PRI M THS I

Options :

70819167423, 7 : 108

70819167424, * -

70819167425, 1+ 3

70819167426, 1 7

Question Number : 20 Question Id : 70819120753 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

LED is constructed from Ga-As-P semiconducting material. The energy gap of this LED is
1.9 eV. Calculate the wavelength of light emitted and its colour.

[h=6.63x10"% s and c=3x10% ms ]

Options :
70819167427. 654 nm and red colour



70819167428. 6564 nm and orange colour

70819167429. 1046 nm and blue colour

70819167430. 1046 nm and red colour

Question Number : 20 Question Id : 70819120753 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ha@ ¥ LED 3 Ga-As-P widU 98a verag 3 g=fenr 31 f8H LED = 9w w39 1.9 eV. 31 241
JIEt JHAT T 3991 BAE #E I T ST A4 |
[h=6.63x10"3*]s »3 c=3x10% ms ]

Options :
70819167427, 604 nm M3 & dIdl

70819167428, 024 nm »iF RIS Tar

20819167429, 1046 nm W3 S 941

1046 nm W3 & 9di

70819167430.
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Question Number : 21 Question Id : 70819120754 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

As shown in the figure, a block of mass \ﬁ kg is kept on a horizontal rough surface of

coefficient of friction ﬁ The critical force to be applied on the vertical surface as shown

at an angle 60° with horizontal such that it does not move, will be 3x. The value of x will be

) us R s g
[g=10 m/s=; sin 60°= — i €08 60" = E]
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Question Number : 22 Question Id : 70819120755 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

{ \

201 lll';" N ona frictionless surface.

-
A boy pushes a box of mass 2 kg with a force F =
)

[f the box was initially at rest, then
10 s.

_m is displacement along the x-axis after
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001
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Correct Marks : 4 Wrong Marks : 0
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4 o
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819120756 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A person standing on a spring balance inside a stationary lift measures 60 kg. The weight of
that person if the lift descends with uniform downward acceleration of 1.8 m/ 52 will be

_____________ N. [g=10 mfsz]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819120756 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
¥ Afgz fee i< fia fdams aret 33t €3 ug ) iz 919 6l kg arueT 91 fers € g9 &
Ufgome, 7od @ee ANG WSa A% 86 35 @5 1.8 m/s?aw B3aer g, N J=am|

[#2 9=10 m/s?]



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819120757 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The mass per unit length of a uniform wire is 0.135 g/cm. A transverse wave of the form
y=—0.21 sin (x+30t) is produced in it, where x is in meter and t is in second. Then, the
expected value of tension in the wire is x X 10 2N.Valueofxis . (Round-off to
the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819120757 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

{8 AHs 379 T 979 Y3t fearet st 0.135¢/cm T | 2R feg e 95t foa wigume 3991 AR & fER
AHIa@E e i 7 AT J y= — 021 sin (x +30t), A% x Hieg feg I i3 LAlosT feg 31 39
Fg e SHE T HE ax 10" INT I xTHs  J1(538 yged 99 82)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count: Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819120758 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A container is divided into two chambers by a partition. The volume of first chamber is
4.5 litre and second chamber is 5.5 litre. The first chamber contain 3.0 moles of gas at pressure
2.0 atm and second chamber contain 4.0 moles of gas at pressure 3.0 atm. After the partition
is removed and the mixture attains equilibrium, then, the common equilibrium pressure
existing in the mixture is xx 10 latm. Valueof xis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819120758 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

fex 5935 & T5(gcTT) oo © b g <o fomr 1 ufos wo/oes = nifess 45 Slea s
TAY YTO/9 T © nTess 5.5 8led 71 ufow ¥rar 2.0 atm §F 3.0 B 30 3 TAT Ui 3.0atm. €3
4.0 V% 3 T 71 35 (99 T2z €3 w3 fumae @ A3fEs Aiest & Guds, fimge ke ==k
o ufdame xx 10 tatm T xTHE T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 26 Question Id : 70819120759 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A radiation is emitted by 1000 W bulb and it generates an electric field and magnetic field at
P, placed at a distance of 2 m. The efficiency of the bulb is 1.25%. The value of peak electric
field at Pis xx10"1V/m. Value of xis . (Rounded-off to the nearest integer)

[Take €,=8.85x10 RCIN"Tm % ¢=3x10°ms™ ]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 26 Question Id : 70819120759 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1000 W =%8 8 fra P fig 3 3tavfaes § 3rafvs 3 I 7 fomd 439 s goell 839 2m & €t 3
Uer a9t J1 559 o AHEE 1.25% 91 fie P €3 €9 fomet 89 © ufsemz xx 1071 V/m 93
XTHE _ JI(3IB yge 'SNEEJ
[@2 £,=8.85x10" 2 CZN"1 m~2, c=3x108 ms~1|
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819120760 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



In an electrical circuit, a battery is connected to pass 20 C of charge through it in a certain
given time. The potential difference between two plates of the battery is maintained at 15 V.
The workdone by the batteryis ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819120760 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
fea famt Aaae <9, fifa ¥edt @ 20 C oon foa fe3 AN oo, UTH oge &t fgir e J| Hedt ot
et feward w2me wisg 15 V o 31 Sedt B w hr )Y
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819120761 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The circuit contains two diodes each with a forward resistance of 50 () and with infinite
reverse resistance. If the battery voltage is 6 V, the current through the 120 () resistance is

____________ mA.
Dy 1300
> AN
I)Eﬂ 100 £}
N W
| 120 €}
L AN
6V

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819120761 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TIAT I Ade 9 © IS (diodes) I& sl & 79a 2 e9es ySiauar 50 Q I w3 md3 G8e
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Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819120762 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The maximum and minimum amplitude of an amplitude modulated wave is 16 V and 8 V
respectively. The modulation index for this amplitude modulated wave is x X 102 The value
ofxis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819120762 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
e e Hig®ies 3991 & qHerd §93H w3 aBa3n mierH 16 V w3 8 VI fel miey Hgsies

390 T HEBHG feasan o ufoame xx 107231 xTWs  JI

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 30 Question Id : 70819120763 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a series LCR resonant circuit, the quality factor is measured as 100. If the inductance is
increased by two fold and resistance is decreased by two fold, then the quality factor after
this change will be _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819120763 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
fee Fte LCR wigaTe Feae 199 anidc! eaed(geas wid) § 100 &fmr I #7159 Y337 3 © Tan
(T=) =07 57 7= w3 UfEeu 3 2 37 we fogr A= 3 fon =t 3 ol geses v (@t
e dwm

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A

Section Id : 708191924

Section Number : 3



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 7081911204
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819120764 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The orbital having two radial as well as two angular nodes is :

Options:

3p
70819167441.

70819167442, 4d

70819167443, f

70819167444, °d

Question Number : 31 Question Id : 70819120764 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
faoz nidfaews 29 2 IS w3 E ae asd (Wshih) Hge Jehr @8 |
Options :

3p
70819167441.



70819167442, 4d

70819167443, f

70819167444, °>d

Question Number : 32 Question Id : 70819120765 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : Dipole-dipole interactions are the only non-covalent interactions, resulting in
hydrogen bond formation.

Reason R : Fluorine is the most electronegative element and hydrogen bonds in HF are
symmetrical.

[n the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
70819167445, Both A and R are true and R is the correct explanation of A

70819167446, Both A and R are true but R is NOT the correct expla_natmn of A

70819167447, A\ 1s true but R is false

70819167448. A is false but R is true

Question Number : 32 Question Id : 70819120765 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



J5 5 T 98 AnE R gHeT O3 956 W3 979 956 95 |

fgg ags A . S-UgE-E U9 vigslatonr Tt fivag d HEmst wisatafanat 75, frrer args Teisome
HOG 5EET J |

98 R:  THdle A 3 =0 f9e'3nd 33 J w3 HF o098 Teisons 906 AHgut 3t 36 |
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Options :

20819167445, £ A3 R AIt T6 uS3 a9 R »3 foz oms A € Bdl fenrfimr T

70819167446. T2 A3 RAJN 75 UG3 @96 R, o3 a5 A € Adt fenrfuer &t T

70819167447, 123 386 A Fdl J US3 96 Ra@3T J |

20819167448, (5% T86 AT®3 I UdZ @96 RA T |

Question Number : 33 Question Id : 70819120766 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-11.

List-1 List-11
Electronic configuration AH in k] mol 1
of elements
(a) 1s22s2 (i) 801
(b) 1s?2s? 2p* (i) 899
() 1s22s22p3 (i) 1314
(d) 1s%2s%2p! (iv) 1402

Choose the most appropriate answer from the options given below :
Options :

70819167449 (@) — (1), (b) — (iv), () — (iid), (d) — (ii)

20819167450, (@ = (iv), (b) = (i), () — (i), (d) — (ii)

70819167451 (@) — (i), (b) — (iii), (c) — (iv), (d) — (i)



20819167452, (@ — (1), (b) = (iid), (c) — (iv), (d) — (ii)

Question Number : 33 Question Id : 70819120766 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
get I niz gat -1l fhee &g |

get-1 get-11
35t &t fedaerfoa soste AH (kJ mol 1)
(a) 1s22s2 (i) 801
(b) 1s*2s2 2pt (i) 899
() 1s22s22p3 (iii) 1314
(d) 1s?2s22p! (iv) 1402

Js o3 feamu oo pdt ESo S o= a9
Options :

20819167449, (@ = (D), (b) = (iv), () — (ii), (d) — (i)

70819167450, (@ = (), (b) = (i), (¢) — (ii), (d) — (iii)

70819167451, (@) — (i), (b) — (iii), (c) — (iv), (d) — (i)

20819167452, (@ — (D, (b) = (iii), (c) — (iv), (d) — (i)

Question Number : 34 Question Id : 70819120767 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-I1L

List-1 List-11

(Ore) (Element Present)
(a) Kernite (i) Tin
(b) Cassiterite (ii) Boron
(c) Calamine (iii) Fluorine

(d) Cryolite (iv) Zinc

Choose the most appropriate answer from the options given below :
Options :

70819167453, (@) = (i), (b) = (i), (¢) — (iv), (d) — (iii)

70819167454, (@ — (iii), (b) — (i), () — (ii), (d) — (iv)

20819167455, (@ — (i), (b) = (iv), (c) — (i), (d) — (iii)

20819167456, (@ — (1) (b) = (iii), (¢) — (iv), (d) — (ii)

Question Number : 34 Question Id : 70819120767 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
gt 1»3 gt 11 fiws & |

gat 1 gt 11
(Ore) ddt a3 (Element Present) ﬂﬁE EE
(a) oEeEIE (i) fes
b) dEEE i) w9
(c) oWmHES (i) =Bds
(d) aoEgEEE (iv) fda
96 o3 Ramuf e Adt @S9 Sl = &9
Options :

70819167453, (@ — (i), (b) — (i), (c) — (iv), (d) — (iii)

70819167454, (@) = (i), (b) = (1), (¢) — (ii), (d) — (iv)



20819167455, (@) = (i), (b) = (iv), (c) — (i), (d) — (iii)

20819167456, @ — (1), (b) — (iii), () — (iv), (d) — (ii)

Question Number : 35 Question Id : 70819120768 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Statements about heavy water are given below.

A. Heavy water is used in exchange reactions for the study of reaction mechanisms.
B.  Heavy water is prepared by exhaustive electrolysis of water.

C.  Heavy water has higher boiling point than ordinary water.

D.  Viscosity of H,O is greater than D,0.

Choose the most appropriate answer from the options given below :
Options :

70819167457, £ and B only

70819167458, ‘* and C only

70819167459, ‘*and D only

70819167460. A, Band C only

Question Number : 35 Question Id : 70819120768 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



I oY 9 958 3 T

A.  F9uEr T QUUR nEs-5es Uisiaionr feg yfsfafon & U39 -fedt @ mis (mechanism)
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B. 7 uel 3 UGS Ul € Aeeidl fansl-femene aidi/a® 3w alisr wier 9

C. W Uste GIwood AU U T Bem e S 53 €9 99 7 |

D. H,0 = foufeuds (viscosity) D,0 3° 20 ge7 I

76 53 Ramu o Adt G39 S 9= a9 ¢

Options :

70819167457, [F9e A »i3 B

70819167458, 92 A »3 C

70819167459, 1H9s A 3 D

70819167460. Hae A, Bm3 C

Question Number : 36 Question Id : 70819120769 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Find A, B and C in the following reactions :
NI—I3 FA A CD?_ — {NH4JECC33

{NH4]2C03 | I—IZD +B — IMII—I_J‘I-ICD3
NI—I_J—ICDH + NaCl — NH4CI +C

Options :
70819167461, HO ;B 0Oy € Nay(O;

70819167462. A-H0 ;B-0,; C~NaHCO,

20819167463, *~HO i B~CO, ; C—NaHCO,

A-0,; B-CO, ; C-Na,CO,
70819167464. & " A



Question Number : 36 Question Id : 70819120769 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

foHstEys yisfafonr A, B w3 C T usT &g
NH, +A +CO, — (NH,),CO,

(NH,),CO, + H,0+ B — NH,HCO,
NH,HCO, + NaCl — NH,CI +C

Options :

70819167461, A HO : B0, C—~NayCO;

70819167462. A-H0 ;B-0,; C~NaHCO,

70819167463.

70819167464, = : s

Question Number : 37 Question Id : 70819120770 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Compound A used as a strong oxidizing agent is amphoteric in nature. It is the part of lead
storage batteries. Compound A is :

Options :

70819167465, ’bO

70819167466, | 0O2

70819167467, L P34



PbSO,
70819167468.

Question Number : 37 Question Id : 70819120770 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

dfde A f8a 993 39599 WaHTad d 3 Weclad Agmi @ J1  fea &3 Aead Sedmi w & fia
WHFA T ? Flod AT |

Options :
70819167465, 'bO

70819167466, | 0O2

70819167467, L P34

PbSO,
70819167468.

Question Number : 38 Question Id : 70819120771 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following lanthanoids does not form MO, ?
[M is lanthanoid metal]

Options :

70819167469, Nd

70819167470, Y

70819167471, LT

70819167472, Yb



Question Number : 38 Question Id : 70819120771 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
foHatweg Suaels 337 fog fagg™ MO, WaHES adt g8 ¢
[ M 3E&ES Hes J]

Options :

70819167469, Nd

70819167470. 2V

70819167471, Fr

70819167472. Yb

Question Number : 39 Question Id : 70819120772 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The presence of ozone in troposphere :
Options :

70819167473 protects us from the UV radiation

70819167474, Protects us from the X-ray radiation

generates phf}todmmical SmMog,
70819167475.

protects us from gremﬂmuse effect
70819167476.



Question Number : 39 Question Id : 70819120772 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Options :

20819167473, T2 U9 Hawt fefaast 3 ww@et 9 |

70819167474, X-TEfa@a’ 3 a8t T |

70819167475, YSHIAfEEd AHaT U 9 O |

70819167476, 2 9193 qfd ygre 3 59€et T |

Question Number : 40 Question Id : 70819120773 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1: A mixture of chloroform and aniline can be sc-parated bﬂ, simplc- distillation.

Statement 11 :  When separating aniline from a mixture of aniline and water by steam
distillation aniline boils below its boiling point.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819167477, Both Statement I and Statement 11 are true

70819167478. Both Statement I and Statement 11 are false

708191674709. Statement 1 is true but Statement 11 is false

20819167480. Statement 1 is false but Statement 1l is true



Question Number : 40 Question Id : 70819120773 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

J6 T 5 fe3 % 78

qE5 1: AT WE WolE 6 © THAGS 3 FUSS GHITI-a9s (QUr A1 25-34 5 Aae 1

ags 1l AT WlE6 5 wolse S UEt € Higs 3 9% aHeiads (SUl a% oY aiS A J 3
neiEs Uz §F% T 3 ue sune S SamEma Us U |

Buias auw & It feg T3 fo3 feamy &9 At G St d=aq |

Options :

70819167477, ©< &6 1 03 &85 11 207 Y

70819167478, T= o8& I »Z &Es Il %3 76|

0819167479, X80 1 At I udg 65 1 I3 T |

70819167480, 50 193 I udg oEs LI AT T |

Question Number : 41 Question Id : 70819120774 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which of the following is ‘a” FALSE statement ?
Options :

70819167481. Carius tube is used in the estimation of sulphur in an organic compnund.

70819167482 Carius method is used for the estimation of nitrogen in an organic compound.

70819167483. Kjeldahl’'s method is used for the estimation of nitrogen in an organic compound.

P‘hosphnric acid pmduced on oxidation of p]msphoms present in an organic compf}und

20819167484, precipitated as Mg,I’;O, by adding magnesia mixture.



Question Number : 41 Question Id : 70819120774 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
oHaiEs farst &9 faoa fans a3 T2
Options :

70819167481, F950! Wla o8 Fe=d S ST = nigH's BargE ®ET afon ey € <93 dist #iet v

20819167482 T9Es! Gl {99 areleda T HSd @ MaH® Bargs el oiawH =0t & Gund a3 e J1

70819167483 TesOn feut ©oirgr argEat Gidd feg a=tens ©f 3T ol Al O

SHSTH € WiaHos Uer d2 SHefddl 398 & Mg,P,0, 9U © ne S a9 & HaBiA
70819167484, THAT® THE I SiIST Hiwr T

Question Number : 42 Question Id : 70819120775 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For the given reaction :

CH =CHBr

1. NaNH5
| : ——- (A)
CH, 2. Red hot iron tube, 873 K (major product)
What is ‘A" ?
Options :
(|:H =CH-NH,
CH,
70819167485.
CH,CH,CH,NH,

70819167486.



70819167487. :

CH,
70819167488. :

Question Number : 42 Question Id : 70819120775 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
J5 fedt ufsfafenr fe vy €UF (A) & T ®marg ¢
CH = CHBr

1. NaNH,
— .
CH, 2. &% a9H ®J ¥ feGH, 873 K

(A)
(e GU)
Options :

(%I—I =CH—-NH,

-

CH,
70819167485,

CH,CH,CH,NH,
70819167486. ' )14 S s
70819167487. :

CH,
70819167488. :



Question Number : 43 Question Id : 70819120776 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For the given reaction :

CH,CH,4
- - Ell'z s ‘v
TR T 1 } i
UV light (major product)
monobrominated
CN
What is “A’?
Options :
70819167489.
CH,CHj;
70819167490.
\Cl I/
f "CN
70819167491.
CH,CHy

goul

70819167492,



Question Number : 43 Question Id : 70819120776 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=

I o=t ufsfafonr R e GUm (A) T at T 2

CH,CH
2\-I13 Br, i
fex Br uenE =@
CN

Options :

CH,CHy

i :Br

CN

70819167489.

CH,CH;

70819167490.  Br

70819167491.

70819167492.



Question Number : 44 Question Id : 70819120777 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A Hydrolysis B

CaHCly) PR (CaHs0)
B reacts with Hydroxyl amine but does not give Tollen’s test. Identify A and B.

Options :
70819167493. 1,1-Dichlorobutane and Butanal
70819167494. 2 2-Dichlorobutane and Butanal

70819167495. 1,1-Dichlorobutane and 2-Butanone

2 2-Di ; : e
70819167496. =~ Dichlorobutane and Butan-2-one

Question Number : 44 Question Id : 70819120777 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Jo feit yfsfafamr
BRIEGE
A 33K D
(C4HgCly) (C4HgO)
USigH B, TEISaRs niHls T YiSfafon ager I ud3 286 2he adr feer J1

(A) nZ (B) ©F ug'E &9 |

Options :

70819167493, 1 1 TESESES 13 BT

7 D ST O - .
70819167494, < < S TIOBIICH M3 HIToEH

70819167495, 1 1-5ECBIES niS 2-5C755



70819167496, > 2-SENBIZE M3 FeE-2-05

Question Number : 45 Question Id : 70819120778 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identify the major products A and B respectively in the following reactions of phenol :

OH
_‘(ij CHCl,, NaOH Br, in CS, @
-
(i) HO* 273K
Options :
OH OH
Br CHO
and
70819167497.
OH OH
@ and @
70819167498, BT CHO
OH OH
Br
and
70819167499. CHO

70819167500.



OH OH

CHO
and

Br

Question Number : 45 Question Id : 70819120778 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
forafous gles o usfaforr &5 vy Buat (A) »3 (B) ©F g a9 |

OH

() CHCly NaOH Br, in CS, ®
B
(ii) H;O* 273 K

Options :

OH OH
Br CHO
s
70819167497.
OH OH
~ Br CHO
OH

5§

70819167499. CHO

70819167498

70819167500.



OH OH
CHO

Br

Question Number : 46 Question Id : 70819120779 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I :  o-Nitrophenol is steam volatile due to intramolecular hydrogen bonding.
Statement Il :  o-Nitrophenol has high melting due to hydrogen bonding.

[n the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819167501. Both Statement I and Statement Il are true

70819167502. Both Statement I and Statement 1l are false

70819167503. Statement 1 is true but Statement 1l is false

70819167504, Statement 1 is [alse but Statement 11 is lrue

Question Number : 46 Question Id : 70819120779 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Jo' € ogs B3 o 9m

qES | niSox TERHs 5UnT ©f Hgedll O1d6 0-5EICEI0n I8 &% TTHUHS J |

TES Il :  TEEEs TUGT 996 o-nElcele® © Uweg To g3 Bur g T |
Budes amst ©f @ f3g, Is B3 feamuf <o pdt €39 & 8= a9

Options :



20819167501, 8@ 1 S ogs 1l e /dt 36 |
70819167502, 86 1 niZ 8% 11 o= %3 dn |

20819167503, 750 1 AT I Ud3 qEs 1 a®3 J |

70819167504, ¥90 1 9®3 T udg aEs L ADT T |

Question Number : 47 Question Id : 70819120780 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An amine on reaction with benzenesulphonyl chloride produces a compound insoluble in
alkaline solution. This amine can be prepared by ammonolysis of ethyl chloride. The correct
structure of amine is :

Options :
CH,CH,CH,NHCH,
70819167505. (MO '

H
CH.CH,CH-N — CH,CH
70819167506. e 2~173

NH —CH,CH,CHj
70819167507, :

CH,CH,NH,
70819167508. - <+ Z

Question Number : 47 Question Id : 70819120780 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



5 mits SadioRmeaels anaEs a% UBiafen a9d ffd Uidd 5276 9§ o9 W% 39 adt
wEer 71 50 wils feofes agarels © WHHGSTEITRA Tord f3ng a3 7 AaeT J | nibis < At
gEsgatd !

Options :
CH,CH
70819167505. s

CH.CH,CH-N — CH-CH
70819167506. Gk Ay 2%-Hg

NH —CH,CH,CHj
70819167507. :::

CH,CH,NH,
70819167508. - <+ Z

Question Number : 48 Question Id : 70819120781 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The structure of Nenprr_-nr_- is :

Options :
—%{HﬁHziH——Gh——Cﬁl CH]
| n
70819167509. CN
fl
[mh C—cw—mh%;
70819167510.

—%HNa Ny ;NHCH{%‘
“/X( n

KMH’_,-“’N

NH

70819167511. |



[CH2 CH

| IS S—
=

70819167512. e

Question Number : 48 Question Id : 70819120781 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
altuts &t segg dt T 7

Options :
—%—CHﬂ}k:CH——CHf——CHE CH ]n
70819167500. CN
§1
70819167510.
—FHN_ fwﬁh _NHCH, -
N-_ KN
NH
70819167511. |
]
[ CH,——CH—1-
70819167512 S

Question Number : 49 Question Id : 70819120782 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the fﬂuf}“?]:_ng vilamin is h,:-]_pfu]_ in dDIH}’iI‘IB the blood CIDT.‘I'.]:_I‘IB ?
Options :
70819167513, Vitamin B

g
70819167514. Vitamin C

T e v o -
70819167515, " itamin E

70819167516. Vitamin K

Question Number : 49 Question Id : 70819120782 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

feHsiEyz 193 fagar feerfis ®g & g8 (blood clotting) 525 Set T4 a9s <9 AOE! g2 J ?
Options :

70819167513, feH5 B

70819167516 1=eHa K

Question Number : 50 Question Id : 70819120783 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

On treating a compound with warm dil. HZSD4, gas X is evolved which turns KzCrZD?
paper acidified with dil. H,50, to a green compound Y. X and Y respectively are :

Options:



70819167517.

70819167518. 2 TR

}{ kT SD;, Y e {:I'-)O-_s
70819167519. y i

K . SD"),.- Y = CI‘-;{S‘D_.I:I:E
70819167520. K 5 ;

Question Number : 50 Question Id : 70819120783 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e fon Gled @ u3% H,S0,, 5% aiH dil3r #ier J 3 dF X 7799 feame! J1 aF X u3® HS0,,
&% 3a a3 K,Cr,0, o & o 99 wlaa Y <o 35ets o9 fédl 91 X B Y erd 0o |

Options :
X=50,, Y=Cr,(SO
70819167517. 3 12(504)s
70819167518, ~~ 202 Y =Cr0;
K=503, Y={:I'-)O;
70819167519. . g
X=SD'3, Y=er{50_-1:|;
70819167520. g & :
Chemistry Section B
Section Id : 708191925
Section Number : 4

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911205
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819120784 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of significant figures in 50000.020 x 103 is
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 51 Question Id : 70819120784 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

50000.020 x 10 3 &8 Araga wid fag 75 ¢
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 52 Question Id : 70819120785 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
vb

f "-JZ b1 ) .
| is —. The valueofxis .

b) =RT. The value of | —
VP 7

A certain gas obeys P(V

m
(Integer answer) (Z : compressibility factor)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819120785 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

fex fsmfes @ P(V, —b)=RT & use qoet | I%JT TS %i—h T HB A1 (B3Tuw
i 3 T (Z : siizatas aed )

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819120786 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



For a chemical reaction A+ B =C+D

(A, H=80 k] mol~!) the entropy change A S® depends on the temperature T(in K) as
A S9=2T (] K~ 'mol 1),

Minimum temperature at which it will become spontaneousis K. (Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819120786 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A + B = C + D grfefea yfsfafonr o=t

A H®=80 kJ mol !

AS9=2T. (J K 'mol 1) faBfa feg 3ums T(K) 3 wrorfaz T

87 we-we A S 3uns K usm a9 fom €3 fego yfsfafonr =diw 8w (spontaneous) IF &a
Aedtl (839 yds vix 3 few)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819120787 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



224 mL of SDE{ s at 298 Kand 1 atm is passed through 100 mL of 0.1 M NaOH solution. The

: ) gk e :
non-volatile sofute produced is dissolved in 36 g of water. The lowering of vapour pressure

f_ o

of solution (assuming the solution is dilute) (P(”:Q].:E-l mm of Hg*,_] is xx10 2 mm of Hg,

the value of xis (Integer answer)

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819120787 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

224 mL SOy W 3 298 K3 1atm 3uH 63 0.1 M NaOH i ¥ 100 mL {8 Surfenr famr
J1 &3t 3 UeT 9% mieRY HIE wiEs 3§ 36 g wet fRe ws fe3r famr 1 He 86 7 ws 593 wsw
J 3 WS € TR-TE e ax 10" 2mmHg J1 x T HS JI

(839 yds wia 3 fw) [ Pa 1,0)=24 mmof Hg )
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819120788 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A homogeneous ideal gaseous reaction ABy ) = A, +2B g) 15 carried out in a 25 litre flask
at 27°C. The initial amount of AB2 was 1 mole Em& the equilibrium pressure was 1.9 atm.
The value of Kp isxx10~2 The value of xis . (Integer answer)

[R=0.08206 dm?atm K~ 1 mol 1]



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819120788 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

R Fhigul w3 ufsfafonr AB, ) — A+ 2B, § R 25 Bleg cmaE few 2
U 63 dist 7 5o J1 AB, E He® H3T 118 (mole) I1 MM ® T8 1.9 atm T K,
el 20 s U8 oo Ji

(839 uss wiw 37 f78)

[R:[]._USZ[]{J' dm’atm K~ ! mol ]

;5
T

—
i
£]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 56 Question Id : 70819120789 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Consider the foﬂowing, reaction

MnOy +8H* +5e~— Mn*2+4H,0, E°=151 V.

The quantity of electricity required in Faraday to reduce five moles of MnQy is
(Integer answer)

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819120789 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
fsHatmys yisfafonr < 779 a9
MnOj +8H* +5¢~— Mn*2+4H,0, °=151 V.
= MnO; M i owads & it & Fse & &3 wddt
(€37 yds nix 3 f54)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819120790 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

An exothermic reaction X — Y has an activation energy 30 k] mol L energy change
AE during the reaction is — 20 kJ, then the activation energy for the reverse reaction in kJ is
(Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 57 Question Id : 70819120790 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

feat X — Y afea yfsfafonr far oo Gow foamet 91 fom & 83ms 8o 30k mol 131 »3
AE=-20k]T1 8me yfsfoforr st @3 Qo T (839 u9s nix 33 o)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819120791 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3.12 g of oxygen is adsorbed on 1.2 g of platinum metal. The volume of oxygen adsorbed per
gram of the adsorbent at T atmand 300K inLis .

[R=0.0821 L atm K~ mol 1]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819120791 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



12 g USEIBH T3 3.12 g WiaRs dF wiuhug el 91 e 1 atm &= w3 300 K uns €3
(fe3m T R=0.0821 L atm K~ 1 mol~1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 59 Question Id : 70819120792 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Dichromate ion is treated with base, the oxidation number of Cr in the product formed is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 59 Question Id : 70819120792 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Setanre mus & ufsfafowr fea we aw &5t o<t 91 fep usfofor T = QR fm Crer

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 60 Question Id : 70819120793 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Number of bridging CO ligands in [an{CD)H}] is .
Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819120793 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
[Mny(CO)yol fR8 _____ u®ut (bridging) CO 3ldis I35
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Mathematics Section A

Section Id : 708191926



Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911206
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819120794 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ey 0 B 0N e

If a and E are perpendicular, then a x la la X b |:|| is equal to :

Options :

=3

70819167531.

' 4
—‘a‘ b

70819167532, <

:
70819167533.|a‘ b

— =

70819167534, @ * b

Question Number : 61 Question Id : 70819120794 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



o a

" r —}]” =
Hoad g M3 p ®9J6,3¢ a Xxlax \a x b//] g9=Ed I :

Options :

S’

70819167531.

2 S
é‘a‘ b
70819167532. =

e
70819167533.|a‘ b

e

70819167534, @ * b

Question Number : 62 Question Id : 70819120795 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If (1,5, 35), (7,5,5), (1, \,7) and (2\, 1, 2) are coplanar, then the sum of all possible values
of Ais:

Options :
70819167535, °

70819167536,  °

70819167537.

70819167538.



Question Number : 62 Question Id : 70819120795 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
754 (1,5, 35), (7,5,5), (1, A, 7) »3 (2\, 1, 2) AHS®T 95, 38 AT RIS AQ N& © 7 4

Options :

70819167535, °

70819167536,

70819167537.

70819167538.

Question Number : 63 Question Id : 70819120796 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The intersection of three lines x—y=0, x+2y=3 and 2x+y=6is a :
Options :

70819167539, Right angled triangle

70819167540, 1sosceles triangle

70819167541, Equilateral triangle

70819167542, None of the above



Question Number : 63 Question Id : 70819120796 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
5 qua x—y=0, x+2y=3"3 A +y=6T A€ J :

Options :
70819167539, FHeE 337

70819167540, FHEEY 337

70819167541, THEd 152

70819167542, SU9eS <8 ot 531

Question Number : 64 Question Id : 70819120797 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(a+1)(a+2) a+2
The value of |(a+ 2)(a+3) a+3 1|is:
(a+3)a+4d) at+ 4

Options :

70819167543, @ D(@+2)(@+3)

70819167544, (@ T2)(@+3)(a+4)

]

70819167545.

70819167546, U

Question Number : 64 Question Id : 70819120797 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@+L)(a+2) a+2 1
@+2)@a+3) a+3 1T
(@a+3)(at+4) a+4 1
Options :
70819167543, @t D@+2)(@+3)

20819167544, (@ 12)(a+3)(a+4)

70819167545, — 2

70819167546, 0

Question Number : 65 Question Id : 70819120798 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The rate of growth of bacteria in a culture is proportional to the number of bacteria present
and the bacteria count is 1000 at initial time t=0. The number of bacteria is increased by

7
.
20% in 2 hours. If the population of bacteria is 2000 after % hours, then [ is
loge (2) loge2)
equal to :
Options:

70819167547, 2

.

70819167548.

o

70819167549.

70819167550, 16



Question Number : 65 Question Id : 70819120798 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

faH @399 (culture) 728 Hieent T 0z € =9 BH 203 Fige deen © foest € wousa v | B9
€8 t=0 A 3 dlegnrt & faest 1000 T ?HE&B#@FE?U” e T9 &% T I6 | Ju9

k
boge (%)

Options:

Wi g dieenr 8 farst 2000 =, EEI 1 HET J

\10ge2 )

70819167547, 2

.

70819167548.

o

70819167549.

6

[

70819167550.

Question Number : 66 Question Id : 70819120799 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the circle given below, let OA =1 unit, OB=13 unit and PQ L OB. Then, the area of the
triangle PQB (in square units) is :

NS
O\MB X

Q
Options :

70819167551, 24V2



70819167552, 2433

70819167553, 2682

hJ
W

70819167554, 26V

Question Number : 66 Question Id : 70819120799 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

J& fe3 9% daq feg, Ha B8 OA =1 fearst, OB=13 fearst W3 PQ LOB | 3¢ f3gw PQB @
¥39es (T9q1 fearenr f&9) T 1

Options :

70819167551, 24V2
70819167552, 2433

70819167553, 26v2

)

I3

70819167554, 263

Question Number : 67 Question Id : 70819120800 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



_ (V3sin(Z +h) — cos(Z +h)]
The value of lim 2 = = = is:
h—0 | J3h(y3cosh — sinh) ]

Options :

W|N

70819167555.

'..-JIA'-'

70819167556.

g

70819167557. V3

3
70819167558, 4

Question Number : 67 Question Id : 70819120800 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
fﬁhiﬂf% I 1‘1] L‘Lwh[% I h.:li

lim 24 ' . Lo im T
h—0 | J3h(y3cosh — sinh) ] &

Options :

W |

70819167555.

,.-ler-'

70819167556.

2
70819167557. V3

| o

70819167558.



Question Number : 68 Question Id : 70819120801 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The maximum slope of the curve y = —x* — 5x” + 18x% — 19x occurs at the point :

b3 | =

Options :

70819167559, (0. 0)

)
70819167560, (& 2)

_(1 21
70819167561, © 2/

70819167562, (2 9)

Question Number : 68 Question Id : 70819120801 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ﬁﬁy=éﬁ 5x° + 18x% — 19x &t niftezH vz fig 39

Options:

70819167559, (0. 0)

g
70819167560, (& 2)

f}r E'\l
4

70819167561. 2

70819167562, (2 9)



Question Number : 69 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of _|= CGS_':
1 +3

]

dx is:

Options :

ra |

70819167563.

I
)

70819167564, 2

!

70819167565.

70819167566.

Question Number : 69 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[N
P B o
Options :
w
70819167563. 2

70819167564, 2T

70819167565.

: 70819120802 Question Type : MCQ Option Shuffling : Yes

: 70819120802 Question Type : MCQ Option Shuffling : Yes



70819167566, =™

Question Number : 70 Question Id : 70819120803 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of seven digit integers with sum of the digits equal to 10 and formed by using
the digits 1, 2 and 3 only is :

Options :

70819167567, 42

70819167568, 2

]
=~

708191675609.

2
2

70819167570.

Question Number : 70 Question Id : 70819120803 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S et @it g A, st @ et A 109 0 7 3 i 1,208 35 <08 & meed
&% Qo' € foest 9

Options:

70819167567, 42

70819167568, °°

70819167569. 77



70819167570, 52

Question Number : 71 Question Id : 70819120804 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The maximum value of the term mdependent of 't in the expansion of [tp |

\ /
where xe (0, 1) is :
Options:

10!

70819167571, V3(5!)°

2.10!

X
70819167572, V33!

70819167573.

|
70819167574, 2})

Question Number : 71 Question Id : 70819120804 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
' ;%10
[ i [1L—x)io

L

fExe(0,1), T yra o t 3 5337 uE T wite=3y U8 T ¢

Options :
10!

70819167571, V3(5)°



70819167572.

70819167573. -

| 2
70819167574, (°Y)

Question Number : 72 Question Id : 70819120805 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let R={(P, Q) | P and Q are at the same distance from the origin} be a relation, then the
equivalence class of (1, —1) is the set:

Options:
S={(x, 2+y2=4
70819167575, ° (% ¥) [T HyT=4)

o L
70819167576, >~ (& ¥) | ¥ +y==2}

70819167577, > (& ¥)

70819167578, 5= (0 ¥) [ 2 +y7=2]

Question Number : 72 Question Id : 70819120805 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

H6 88 R={(P,Q)|Pm3QiR I T el e 3 05 | Ea Adud | Je(l, - S mgs et &

HHd d :

Options :



5={x. 24 y2=4
70819167575, - ¥ [ tym=4)

=ilx e
20819167576, 5= W ¥) | ¥ +y*=2}

o B9
70819167577, > (& ¥) [ X7 +y°

={(x L e T
70819167578, O = (& ¥) [ ¥ +y2 =2}

Question Number : 73 Question Id : 70819120806 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A be a symmetric matrix of order 2 with integer entries. If the sum of the diagonal
elements of A2 is 1, then the possible number of such matrices is :

Options :

70819167579, !

70819167580, 4

70819167581, ©

70819167582, 12

Question Number : 73 Question Id : 70819120806 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

He ®8 A e AHiHIEr 231 = HicaR I AR AT 33 uas id 06| dae AT fege T 337 o g
1 J 3% R 391 © Agles Hicant & foest 9

Options :

70819167579, !



70819167580, 4

70819167581, ©

70819167582, 12

Question Number : 74 Question Id : 70819120807 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f be any function defined on R and let it satisfy the condition :

fO-fw = |-y v(@xyeR
If fi0) = 1, then:
Options :
70819167583, /(¥ >0 v xe R

20819167584, J(¥) <0, xR

70819167585, /() =0, vx <= R

20819167586, J () can take any value in R

Question Number : 74 Question Id : 70819120807 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ho ®8 [ aEt RI veTis e o A o3 | fl)—fiy) | = |(x— )2, ¥ (v, y) RS Agme aoe T |

Hag fl0) = 1,3¢:

Options:

20819167583, /(¥ >0, 7 xe R



20819167584, /(1) <0, 7x e R

70819167585, J(¥) =0, 7xe R

f(x) R S5 et S tHZ & Aae d |
70819167586. -

Question Number : 75 Question Id : 70819120808 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A fair coin is tossed a fixed number of times. If the probability of getting 7 heads is equal to
probability of getting 9 heads, then the probability of getting 2 heads is :

Options :

70819167587, 2°

1
70819167588, 2

708191675809.

15
14
70819167590, 2

Question Number : 75 Question Id : 70819120808 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

feat fomd fia 3 Tt 3% 399" (fixed number) =9 Sarfen Ffer U,759 7 79 fo3 wige & Ages
gzg e mBe T o9 9, IT 2 e fs miBE S A= T

Options :



bt
70819167587, 2

12
70819167588, 2

708191675809.

15
14
70819167590, 2

Question Number : 76 Question Id : 70819120809 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. =1 -1 -1 \
o sin X cos X tan 1 o g
If = = y 0 <x <1, then the value of CDS| | is :
a b c \a+b)

e

Options:

-

70819167591, 1 ¥~

-

11—y
70819167592. VY

70819167593.

2y
70819167594.

Question Number : 76 Question Id : 70819120809 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

. sin ! x cos 'x tan~! i &

a b C \ a

C o

TTHS J :
5)
Options :

70819167591, 1 ¥~

2

-y
70819167592, VY

1 yz
14 '1;2
70819167593. :
1 yz
2y
70819167594.

Question Number : 77 Question Id : 70819120810 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

25
In an increasing geometric series, the sum of the second and the sixth term is — and the

product of the third and fifth term is 25. Then, the sum of 4th gth and 8th terms is equal to:

Options :

-2
o

70819167595.

3

70819167596, >0

70819167597. -

%)

70819167598, 39



Question Number : 77 Question Id : 70819120810 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
i s I e
ﬁ@ﬁﬁmﬁewmﬁwwﬂagmmﬁﬁmuﬁm?m

257 3T 95, 8¢ M3 wies UTT ¥ 9 599 J ¢
Options:

70819167595, 26
70819167596, 20

70819167597.

70819167598, 2

Question Number : 78 Question Id : 70819120811 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
' 2 7 2 17 2

The sum of the infinite series 1+ — SRl ek i S is equal to :
3 3.5 f}r—'ln 3':!

Options :

k.

70819167599, 4
u

70819167600. 4

13

70819167601. 4

15
70819167602, 4



Question Number : 78 Question Id : 70819120811 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
7 | A L .

' )
nnﬂ14333°r1|%|;—1| Sy

33 3% 35
Options :

9

70819167599, 4

¥
70819167600. 4

13

70819167601. 4

15
70819167602, 4

Question Number : 79 Question Id : 70819120812 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider the three planes

P; : 3x+15y+21z=9,

P, :x—3y—z=5, and

Py : 2x+10y +14z=
Then, which one of the following is true ?
Options :

70819167603. P; and P, are parallel.

20819167604, L1 and Py are parallel.

70819167605, 17 P2 and Py all are parallel.



70819167606, T2 0 Fy are perallel

Question Number : 79 Question Id : 70819120812 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
He &8 55 mEw
Py 3x+ 1yt 21z=9,
P,: x—3y—z=5n3

l'J'q 2x + 10y +14z=5
3v, J& ety 29 faoz ffa rdt o
Options :

70819167603, 11 ™= P2 FH'ST

70819167604, F1 75 P3 AH'ST

70819167605, L1- P2 ™3 P3 FH'SS

70819167606, L2 3 3 FHST

Question Number : 80 Question Id : 70819120813 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

100 n
The value of \> | e¥ ] dx, where [ x] is the greatest integer < x, is :

pe 1 n—1
Options :

70819167607, 100(1—¢)

70819167608, 100(1+e)



70819167609, 100¢

70819167610, 100(e —1)

Question Number : 80 Question Id : 70819120813 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

w0 on _
e e I dx | iy [x] miftre=y uds Wiz < x T |
n=1 p-1

Options :

70819167607, 100(1—¢)

70819167608, 100(1+e)

70819167609, 100¢

70819167610, 100(e —1)

Mathematics Section B

Section Id : 708191927
Section Number : 6

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20



Mark As Answered Required?: Yes

Sub-Section Number : 1
Sub-Section Id : 7081911207
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 70819120814 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The difference between degree and order of a differential equation that represents the famﬂ}-'

i i

. : 7 va g
of curves given bj,-' | al X el | a>0is___ |

L 2 )
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819120814 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

bt i 3 f 2 =l x + 22

\ i

Response Type : Numeric

. a > ( pHloEs =% e aemit =397 & ufoee

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 82 Question Id : 70819120815 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The sum of 162" power of the roots of the equation x3—2x2+2x-1=0 is
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 82 Question Id : 70819120815 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AHiggs B-22+2x—-1=0e y @i 1e2d w3 =vdz _ Ji
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819120816 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The area bounded by the lines y=||x—1|-2]is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 83 Question Id : 70819120816 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

et y=|x—1|-2|swWfonrass T

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819120817 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

dy siny

i . . " = 111 ]
If y=y(x) is the solution of the equation Omn*fcosya e Y cosx = cosx, y(0)=0; then

I (7} 3 (w) 1 ()
1 y|ng | ?y|;}‘ | \—Eylzj is equal to ___
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819120817 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
: i
d.l'

siny

7ag y=y(x), AHETs e"Weosy—= +e"™ cosx = cosx, y(0)=0 T T& I, IT

1 | ."Ti_\. l \l,"i -"Ti_\. | 1 -"Ti-‘- : = =
i 3l hpl P FER

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819120818 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of solutions of the equation logy(x—1)=log,(x—3)is .
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819120818 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a5 logy(x—1)=logy(x—3) T d® S fa=st T |
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 86 Question Id : 70819120819 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of integral values of 'k’ for which the equation 3sinx + 4cosx =k + 1 hasa solution,
ke Ris

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 86 Question Id : 70819120819 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

‘K’ € ugs niel T faest i w2t miiees dsinx+4cosy=k+1 T % I, ke R

St 1

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819120820 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

Let (A, 2, 1) be a point on the plane which passes Lhrough the point (4, - ). If the plane is
perpendicular to the line joining the points (-2, —21, 29) and ( —16, 23), then
2
ﬁ« 3

l — 4 isequalto .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819120820 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
o s dfafde (4, -22) o dwe 3, BABW A fig (\ 2 1) T a9 Ass e

'.\2

] % %
(-2, -21,29) m3 (-1, —16,23) % firBe =W ow 3 87 o7 X oy
s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819120821 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
™

The value of the integral _[ sin2x |dx is
0



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819120821 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

feafeaas Isi:ﬂx drevygs T

0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 89 Question Id : 70819120822 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[f \.ﬁ{msz;\') = (/3 = 1)cosx + 1, the number of solutions of the given equation when

0, —

2

1. ST

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819120822 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

0,7 | 3 i e s ¢ o o i

a9 l\ﬁ{cos‘zxj = (V3 -1)cosx +1, 7 x ¢
d=att |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819120823 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

lh-{[] ) m
| =n-2", then

130 ( ;
(29

) (30)
Letm,n<s Nand ged (2, n)=1. If 3[]‘ 0 ‘ I 29‘ i ‘ Pl |2
! J ! z \

30)
)

n+misequalto .

( ‘n)
‘\Hum‘ L

o,

1
=an‘
A

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 90 Question Id : 70819120823 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

. 5 4 [30) (30 (30 )
HE B8 mne NmSHAZ. (2 n)=1.1‘-|a"u’3[l| ol 29 R 2 2
WA Vo

\

= m
T L

(30
' llt 29

J
I n+mITTE E- B

(o (M) )

=)

LK) J
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



